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QUESTION 1

Which statement is correct regarding virtual machine alignment on VMware ESX?

A. Alignment issues can occur on any protocol including FCP, iSCSI, FCoE, and NFS.

B. Windows RDM LUNs on NetApp suffer from alignment problems because they are accessed directly by VMs.
C. AVMIS | UN with a LUN type of VMware, will always have properly aligned VMs.

D. msinfo32 or mbrscan can be run for the ESX service console to check for proper alignment of VMs.

Correct Answer: A

QUESTION 2

Which command on a NetApp storage controller will display the average latency time on a per LUN basis every five
seconds?

A. sysstat -i 5
B. sysstat -f 5
C. fcp stats -i 5
D. lun stats -i 5

Correct Answer: D

QUESTION 3

What are three true statements about physical reallocation of data added in ONTAP 7.3? (Choose three.)

A. Use reallocate -p pathname to run the physical reallocate.

B. Use aggr reallocate -p pathname to run the physical reallocate.

C. Reinitialize any SnapMirror relationship for the new physical geometry.

D. Volume Snapshots do not need to be deleted for the reallocate to run effectively.

E. Dont run it on files, volumes, and LUNs that are in an aggregate created by a version of ONTAP earlier than 7.2.

Correct Answer: ADE

QUESTION 4

A Windows 2008 iSCSi initiator is NOT able to switch between different paths when a path becomes unavailable. What
is a likely cause?

NS0-504 Study Guide | NS0-504 Exam Questions | NS0-504 Braindumps 2/6


https://www.certbus.com/ns0-504.html
https://www.certbus.com/ns0-504.html
https://www.certbus.com/ns0-504.html

www.CertBus.com https://lwww.certbus.com/ns0-504.html
CE RT 2024 Latest certbus NS0-504 PDF and VCE dumps Download

A. An iSCSI path must have jumbo frames enabled to allow Multipathing.

B. The iSCSI protocol does NOT allow switching between paths, although you can trunk oaths together.
C. An iSCSI igroup does NOT have the initiator\\'s IQN.

D. The Multipath I/O function is NOT installed.

Correct Answer: D

QUESTION 5

To configure a storage system as a member of a Windows active directory domain, the time on the storage system must
be set to be within plus or minus five minutes of the time on the domain controller.

A. True
B. False

Correct Answer: A

QUESTION 6

To create a 64-bit aggregate, which optional switch/flag/parameter/option to the aggr create command must be
included?

A.b 64
B. B 64
C.164
D.L64
E. No optional switch/flag/parameter/option is needed because 64-bit aggregates are the default

Correct Answer: B

QUESTION 7

A volume is SnapMirrored hourly. You revert the volume using a snapshot that was created two days ago. Which
command continues the relationship?

A. SnapMirror initialize
B. SnapMirror quiesce
C. SnapMirror resume

D. SnapMirror resync
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E. SnapMirror update

Correct Answer: D

QUESTION 8

What should an administrator do first before shutting down two nodes of a 4-node cluster?
A. migrate node-management LIFs to a node that is staying up

B. move Vserver root volumes to a node that is staying up

C. reassign the master of all RDB rings to a node that is staying up

D. set both nodes that are coming down to "ineligible”

Correct Answer: D

QUESTION 9

To automatically export volumes and directories on storage system reboot, include them in the /etc/exports file.
A. True

B. False

Correct Answer: A

QUESTION 10

Identify the two commands that could be entered on the SnapMirror destination storage system. (Choose two.)
A. snapmirror resync

B. snapmirror release

C. snapmirror initialize

D. options snapmirror.access on

Correct Answer: AC

QUESTION 11
What information do you NOT need to verify before ordering a NetApp storage solution?
A. power sources and voltage available in Data Center

B. A/C available in the Data Center
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C. raised floor in Data Center
D. types of Ethernet switches for iSCSI traffic in Data Center

Correct Answer: C

QUESTION 12

A 100-GB thinly provisioned LUN is allocated to a Windows host. 100 GB of data is written into the LUN. The current
capacity utilization on the disk array as well as the host is 100%. 50 GB of data is deleted from the LUN. Space
reclaimer has NOT been run. What is the current capacity utilization on both the host and the disk array?

A. 50% on the host, 100% on the disk array

B. 100% on the host, 50% on the disk array

C. 50% on the host, 50% on the disk array

D. 100% on the host, 100% on the disk array

Correct Answer: A

QUESTION 13

An aggregate is composed of twelve 36-Gigabyte disks. A drive fails and only 72-Gigabyte spare disks are available.
Data ONTAP will then perform what action.

A. Chooses a 72-Gigabyte disk and use it as is.

B. Chooses a 72-Gigabyte disk and right-size it.

C. Halts after 24 hour of running in degraded mode.

D. Alerts you that there are no 36-Gigabyte disks and wait for one to be inserted.

Correct Answer: B

QUESTION 14

Which set of protocols provide block-level access to NetApp storage?
A. SNA and RPC

B. iSCSI and FCP

C.HTTP and FTP

D. CIFS and NFS

Correct Answer: B
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QUESTION 15

Which row of items should you look up in the IMT (Interoperability Matrix Tool) when designing a NetApp Storage
Solution for a customer?

A. Host OS and patches, FC WWPN, Volume Manager, File System version

B. Host OS, iSCSI IQN, Volume Manager, Clustering

C. Host OS and patches, HBA driver, Volume Manager, File System, Clustering
D. Host OS, HBA driver, Host Memory and CPU Speed, File System, Clustering

Correct Answer: C
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